

Created by T. Madas

# IMPULSE FUNCTION

Created by T. Madas

**The Impulse Function / The Dirac Function**

$$1. \delta(t-c) = \begin{cases} \infty & t=c \\ 0 & t \neq c \end{cases}, \quad \delta(t) = \begin{cases} \infty & t=0 \\ 0 & t \neq 0 \end{cases}$$

$$2. \delta(t) = \frac{1}{\pi} \lim_{\epsilon \rightarrow 0} \left[ \frac{\epsilon}{\epsilon^2 + t^2} \right]$$

$$3. \int_a^b \delta(t-c) dt = \begin{cases} 1 & a \leq c \leq b \\ 0 & \text{otherwise} \end{cases}$$

$$4. \int_a^b f(t) \delta(t-c) dt = \begin{cases} f(c) & a \leq c \leq b \\ 0 & \text{otherwise} \end{cases}$$

$$5. \mathcal{L}[\delta(t-c)] = e^{-cs}$$

$$6. \mathcal{L}[f(t)\delta(t-c)] = f(c)e^{-cs}$$

$$7. \mathcal{F}[\delta(x)] = \frac{1}{\sqrt{2\pi}}$$

$$8. \mathcal{F}^{-1}[\delta(k)] = \frac{1}{\sqrt{2\pi}}$$

$$9. \frac{d}{dt}[\mathcal{H}(t-c)] = \delta(t-c)$$

**Question 1**

Evaluate the following integral

$$\int_0^5 (t^2 + 1) \delta(t-1) dt.$$

2

$\int_0^5 (t^2+1) \delta(t-1) dt = \dots$  IMPULSE OCCURS AT  $t=1$ ,  
 USING  $\int_a^b f(t) \delta(t-c) dt = \begin{cases} f(c) & a < c < b \\ 0 & \text{OTHERWISE} \end{cases}$   
 $= 1^2 + 1 = 2$

**Question 2**

Evaluate the following integral

$$\int_0^\pi \sin\left(\frac{1}{3}t\right) \delta\left(t - \frac{\pi}{2}\right) dt.$$

$\frac{1}{2}$

$\int_0^\pi \sin\left(\frac{1}{3}t\right) \delta\left(t - \frac{\pi}{2}\right) dt = \dots$  IMPULSE OCCURS AT  $t = \frac{\pi}{2}$   
 USING  $\int_a^b f(t) \delta(t-c) dt = \begin{cases} f(c) & a < c < b \\ 0 & \text{OTHERWISE} \end{cases}$   
 $= \sin\frac{\pi}{6}$   
 $= \sin\frac{\pi}{6}$   
 $= \frac{1}{2}$

**Question 3**

Find the Laplace transform of  $\delta(t-c)$ , where  $c$  is a positive constant, and hence state the Laplace transform of  $\delta(t)$ .

$$\mathcal{L}[\delta(t-c)] = e^{-cs}, \quad \mathcal{L}[\delta(t)] = 1$$

Handwritten derivation showing the Laplace transform of  $\delta(t-c)$  using the sifting property of the Dirac delta function. It starts with the definition of the Laplace transform, then uses the property  $\int_a^b f(t) \delta(t-c) dt = f(c)$  for  $a < c < b$ . This leads to  $\int_0^\infty e^{-st} \delta(t-c) dt = e^{-cs}$ . Finally, it states that for  $c=0$ ,  $\int_0^\infty \delta(t) dt = 1$ .

**Question 4**

Given that  $F(t)$  is a piecewise continuous function defined for  $t \geq 0$ , find the Laplace transform of  $F(t) \delta(t-c)$ , where  $c$  is a positive constant.

$$\mathcal{L}[F(t) \delta(t-c)] = F(c) e^{-cs}$$

Handwritten derivation showing the Laplace transform of  $F(t) \delta(t-c)$ . It starts with the definition of the Laplace transform, then uses the sifting property  $\int_0^\infty G(t) \delta(t-c) dt = G(c)$  where  $G(t) = e^{-st} F(t)$ . This leads to  $\int_0^\infty e^{-st} F(t) \delta(t-c) dt = F(c) e^{-cs}$ .

**Question 5**

Find the Laplace transform of  $\cos 3t \delta\left(t - \frac{\pi}{3}\right)$ .

$$\mathcal{L}\left[\cos 3t \delta\left(t - \frac{\pi}{3}\right)\right] = e^{-\frac{1}{3}\pi s}$$

$$\begin{aligned} \int_0^{\infty} \cos 3t \delta(t - \frac{\pi}{3}) dt &= \int_0^{\infty} e^{-st} \cos 3t \delta(t - \frac{\pi}{3}) dt \\ &= e^{-s \frac{\pi}{3}} \cos 3\left(\frac{\pi}{3}\right) \\ &= e^{-\frac{1}{3}\pi s} \end{aligned}$$

**Question 6**

Find the Laplace transform of  $t^3 \delta(t-3)$ .

$$\mathcal{L}\left[t^3 \delta(t-3)\right] = 27e^{-3s}$$

$$\begin{aligned} \int_0^{\infty} t^3 \delta(t-3) dt &= \int_0^{\infty} e^{-st} t^3 \delta(t-3) dt \\ &= e^{-3s} \times 3^3 = 27e^{-3s} \end{aligned}$$

**Question 7**

Use Laplace transforms to solve the differential equation

$$\frac{d^2x}{dt^2} + 2\frac{dx}{dt} + 5x = \delta(t-2),$$

given further that  $x=0$ ,  $\frac{dx}{dt}=1$  at  $t=0$ .

$$x = e^{-t} \left[ \sin 2t - e^4 \sin(2t-4) H(t-2) \right]$$

Handwritten solution for the differential equation using Laplace transforms:

$$\ddot{x} + 2\dot{x} + 5x = \delta(t-2)$$

Initial conditions:  $x_0=0$ ,  $\dot{x}_0=1$

TAKE LAPLACE TRANSFORMS

$$\Rightarrow [s^2\bar{x} - s\dot{x}_0 - \ddot{x}_0] + 2[s\bar{x} - \dot{x}_0] + 5\bar{x} = \int \delta(t-2)$$

$$\Rightarrow s^2\bar{x} - 1 + 2s\bar{x} + 5\bar{x} = e^{-2s}$$

$$\Rightarrow \bar{x}(s^2 + 2s + 5) = 1 - e^{-2s}$$

$$\Rightarrow \bar{x} = \frac{1 - e^{-2s}}{s^2 + 2s + 5}$$

$$\Rightarrow \bar{x} = \frac{1}{(s+1)^2 + 4} - \frac{e^{-2s}}{(s+1)^2 + 4}$$

INVERSE

$$\Rightarrow x = e^{-t} \sin 2t - e^{-(t-2)} \sin 2(t-2) H(t-2)$$

$$\Rightarrow x = e^{-t} \sin 2t - e^4 e^{-t} \sin(2t-4) H(t-2)$$

## Question 8

Use Laplace transforms to solve the differential equation

$$\frac{d^2x}{dt^2} + 4\frac{dx}{dt} + 3x = 2\delta(t-6),$$

given further that  $x=0$ ,  $\frac{dx}{dt}=2$  at  $t=0$ .

$$x = e^{-3t} \left[ e^{2t} - 1 \right] + e^{-3t} e^6 \left[ e^{12} - e^{2t} \right] H(t-6)$$

$\ddot{x} + 4\dot{x} + 3x = 2\delta(t-6)$     subject to  $\begin{matrix} x=0 \\ \dot{x}=2 \end{matrix}$  at  $t=0$

TAKING LAPLACE TRANSFORMS  
 $\Rightarrow [s^2\bar{x} - s\dot{x}_0 - \ddot{x}_0] + 4[s\bar{x} - \dot{x}_0] + 3\bar{x} = \int_0^\infty 2\delta(t-6) dt$   
 $\Rightarrow s^2\bar{x} - 2 + 4s\bar{x} + 3\bar{x} = 2e^{-6s}$   
 $\Rightarrow \bar{x}(s^2 + 4s + 3) = 2 - 2e^{-6s}$   
 $\Rightarrow \bar{x} = \frac{2(1 - e^{-6s})}{s^2 + 4s + 3}$   
 $\Rightarrow \bar{x} = 2(1 - e^{-6s}) \times \frac{1}{(s+1)(s+3)} \leftarrow \text{PARTIAL FRACTIONS}$   
 $\Rightarrow \bar{x} = 2(1 - e^{-6s}) \times \left[ \frac{1}{s+1} - \frac{1}{s+3} \right]$   
 $\Rightarrow \bar{x} = \frac{2 - 2e^{-6s}}{s+1} - \frac{2 - 2e^{-6s}}{s+3}$   
 $\Rightarrow \bar{x} = \frac{2}{s+1} - \frac{2e^{-6s}}{s+1} - \frac{2}{s+3} + \frac{2e^{-6s}}{s+3}$

INVERTING...  
 $x(t) = e^{-t} - e^{-3t} + e^{-3t} H(t-6) - e^{-t} + e^{-3(t-6)} H(t-6)$   
 $x(t) = e^{-t} - e^{-3t} + \frac{2}{e^6} e^{-3t} H(t-6) - e^{-t} + e^{-3t} H(t-6)$   
 $x(t) = e^{-3t} [e^{2t} - 1] + e^{-3t} e^6 [e^{12} - e^{2t}] H(t-6)$

**Question 9**

The function  $f$  is defined as

$$f(x) = \frac{1}{\pi} \left[ \frac{\varepsilon}{\varepsilon^2 + x^2} \right],$$

where  $\varepsilon$  is a positive parameter.

a) Show that  $\lim_{\varepsilon \rightarrow 0} [f(x)] = \delta(x)$ .

The function  $g$  is defined as

$$g(x) = \frac{\lambda}{\sqrt{\pi}} e^{-\lambda^2 x^2},$$

where  $\lambda$  is a positive parameter.

b) Show that  $\lim_{\lambda \rightarrow \infty} [g(x)] = \delta(x)$ .

proof

a)  $f(x) = \frac{1}{\pi} \left[ \frac{\varepsilon}{\varepsilon^2 + x^2} \right]$

- If  $x=0$   
 $\lim_{\varepsilon \rightarrow 0} \left[ \frac{1}{\pi} \frac{\varepsilon}{\varepsilon^2 + x^2} \right] = \lim_{\varepsilon \rightarrow 0} \left[ \frac{1}{\pi} \times \frac{1}{\varepsilon} \right] = \infty$
- If  $x \neq 0$   
 $\lim_{\varepsilon \rightarrow 0} \left[ \frac{1}{\pi} \frac{\varepsilon}{\varepsilon^2 + x^2} \right] = \lim_{\varepsilon \rightarrow 0} \left[ \frac{\varepsilon}{\pi x^2} \right] = 0$

$\bullet \int_{-\infty}^{\infty} f(x) dx = \int_{-\infty}^{\infty} \frac{1}{\pi} \frac{\varepsilon}{\varepsilon^2 + x^2} dx = \frac{\varepsilon}{\pi} \int_{-\infty}^{\infty} \frac{1}{\varepsilon^2 + x^2} dx$

$= \frac{\varepsilon}{\pi} \times \frac{1}{\varepsilon} \left[ \arctan\left(\frac{x}{\varepsilon}\right) \right]_{-\infty}^{\infty} = \frac{1}{\pi} \left[ \frac{\pi}{2} - \left(-\frac{\pi}{2}\right) \right]$

$= 1$

$\therefore f(x)$  is an infinite height spike at  $x=0$ , with area 1

$\therefore \delta(x) = \lim_{\varepsilon \rightarrow 0} \left[ \frac{1}{\pi} \frac{\varepsilon}{\varepsilon^2 + x^2} \right]$

b)  $g(x) = \frac{\lambda}{\sqrt{\pi}} e^{-\lambda^2 x^2}$

- If  $x=0$   
 $\lim_{\lambda \rightarrow \infty} \left[ \frac{\lambda}{\sqrt{\pi}} \right] = \infty$
- If  $x \neq 0$   
 $\lim_{\lambda \rightarrow \infty} \left[ \frac{\lambda}{\sqrt{\pi}} e^{-\lambda^2 x^2} \right] = 0$  since  $e^{-\lambda^2 x^2} \rightarrow 0$  faster than  $\frac{\lambda}{\sqrt{\pi}} \rightarrow \infty$

$\bullet \int_{-\infty}^{\infty} g(x) dx = \int_{-\infty}^{\infty} \frac{\lambda}{\sqrt{\pi}} e^{-\lambda^2 x^2} dx = \frac{\lambda}{\sqrt{\pi}} \int_{-\infty}^{\infty} e^{-\lambda^2 x^2} dx$

By substitution  
 $u = \lambda x$   
 $\frac{du}{dx} = \lambda$   
 $dx = \frac{du}{\lambda}$   
 Limits unchanged

$= \frac{\lambda}{\sqrt{\pi}} \int_{-\infty}^{\infty} e^{-u^2} \frac{du}{\lambda}$

$= \frac{1}{\sqrt{\pi}} \int_{-\infty}^{\infty} e^{-u^2} du$

$= \frac{1}{\sqrt{\pi}} \times \sqrt{\pi}$

$= 1$

$\therefore g(x)$  is a spike of infinite height at  $x=0$ , with area 1

$\therefore \delta(x) = \lim_{\lambda \rightarrow \infty} \left[ \frac{\lambda}{\sqrt{\pi}} e^{-\lambda^2 x^2} \right]$



**Question 10**

The impulse function  $\delta(x)$  is defined by

$$\delta(x) = \begin{cases} \infty & x = 0 \\ 0 & x \neq 0 \end{cases}$$

a) Determine

i. ...  $\mathcal{F}[\delta(x)]$ .

ii. ...  $\mathcal{F}[\delta(x-a)]$ , where  $a$  is a positive constant.

iii. ...  $\mathcal{F}^{-1}[\delta(k)]$ .

b) Use the above results to deduce  $\mathcal{F}[1]$  and  $\mathcal{F}^{-1}[1]$ .

$$\boxed{\mathcal{F}[\delta(x)] = \frac{1}{\sqrt{2\pi}}}, \quad \boxed{\mathcal{F}[\delta(x-a)] = \frac{1}{\sqrt{2\pi}} e^{-ika}}, \quad \boxed{\mathcal{F}^{-1}[\delta(k)] = \frac{1}{\sqrt{2\pi}}},$$

$$\boxed{\mathcal{F}[1] = \sqrt{2\pi} \delta(k)}, \quad \boxed{\mathcal{F}^{-1}[1] = \sqrt{2\pi} \delta(x)}$$

Handwritten derivations for the Fourier transform of the Dirac delta function and its inverse:

a) i)  $\mathcal{F}[\delta(x)] = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \delta(x) e^{-ikx} dx = \dots$  (using the sifting property)  
 $= \frac{1}{\sqrt{2\pi}} e^{-ik \cdot 0} = \frac{1}{\sqrt{2\pi}}$

ii)  $\mathcal{F}[\delta(x-a)] = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \delta(x-a) e^{-ikx} dx = \dots$  (using the sifting property)  
 $= \frac{1}{\sqrt{2\pi}} e^{-ika}$

iii)  $\mathcal{F}^{-1}[\delta(k)] = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \delta(k) e^{ikx} dk = \dots$  (using the sifting property)  
 $= \frac{1}{\sqrt{2\pi}} e^{ix \cdot 0} = \frac{1}{\sqrt{2\pi}}$

b) Looking at (i)  $\mathcal{F}[1] = \frac{1}{\sqrt{2\pi}}$   $\mathcal{F}[\delta(x)] = \frac{1}{\sqrt{2\pi}}$   
 $\sqrt{2\pi} \mathcal{F}[1] = 1$   $\mathcal{F}^{-1}[\delta(x)] = 1$   
 $\mathcal{F}^{-1}[\sqrt{2\pi} \mathcal{F}[1]] = \mathcal{F}^{-1}[1]$   $\mathcal{F}[\sqrt{2\pi} \mathcal{F}[\delta(x)]] = \mathcal{F}[1]$   
 $\mathcal{F}^{-1}[1] = \sqrt{2\pi} \delta(x)$   $\mathcal{F}[1] = \sqrt{2\pi} \delta(x)$

**Question 11**

The impulse function  $\delta(x)$  is defined by

$$\delta(x) = \begin{cases} \infty & x = 0 \\ 0 & x \neq 0 \end{cases}$$

- a) Determine the inverse Fourier transform of the impulse function  $\mathcal{F}^{-1}[\delta(k)]$ , and use it to deduce the Fourier transform of  $f(x) = 1$ .
- b) Find directly the Fourier transform of  $f(x) = 1$ , by introducing the converging factor  $e^{-\varepsilon|x|}$  and letting  $\varepsilon \rightarrow 0$ .

$$\mathcal{F}[1] = \sqrt{2\pi} \delta(k)$$

Q) CONSIDER THE INVERSE FOURIER TRANSFORM OF  $\delta(\omega)$

$$\mathcal{F}^{-1}[\delta(\omega)] = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \delta(\omega) e^{i\omega x} d\omega = \text{SUBSTITUTION PROPERTY}$$

$$= \frac{1}{\sqrt{2\pi}} e^{i\omega x} = \frac{1}{\sqrt{2\pi}}$$

Now

$$\mathcal{F}^{-1}[\delta(\omega)] = \frac{1}{\sqrt{2\pi}}$$

$$\sqrt{2\pi} \mathcal{F}^{-1}[\delta(\omega)] = 1$$

$$\mathcal{F}[\sqrt{2\pi} \mathcal{F}^{-1}[\delta(\omega)]] = \mathcal{F}[1]$$

$$\sqrt{2\pi} \delta(\omega) = \mathcal{F}[1]$$

$$\mathcal{F}[1] = \sqrt{2\pi} \delta(\omega)$$

b)  $\mathcal{F}[1] = \lim_{\varepsilon \rightarrow 0} [\mathcal{F}[1 \cdot e^{-\varepsilon|x|}]] =$

$$= \lim_{\varepsilon \rightarrow 0} \left[ \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\varepsilon|x|} e^{-i\omega x} dx \right]$$

$$= \frac{1}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \int_{-\infty}^{\infty} 2e^{-\varepsilon|x|} \cos(\omega x) dx \right]$$

$$= \frac{2}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \text{Re} \left[ \int_0^{\infty} e^{-\varepsilon x} e^{i\omega x} dx \right] \right]$$

$$= \frac{2}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \text{Re} \left[ \int_0^{\infty} e^{-(\varepsilon - i\omega)x} dx \right] \right]$$

$$= \frac{2}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \text{Re} \left[ \frac{1}{-\varepsilon + i\omega} e^{-(\varepsilon - i\omega)x} \right]_0^{\infty} \right]$$

$$= \frac{2}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \text{Re} \left[ \frac{-\varepsilon - i\omega}{\varepsilon^2 + \omega^2} e^{-\varepsilon x} e^{i\omega x} \right]_0^{\infty} \right]$$

$$= \frac{2}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \text{Re} \left[ \frac{-\varepsilon - i\omega}{\varepsilon^2 + \omega^2} (0 - 1) \right] \right]$$

$$= \frac{2}{\sqrt{2\pi}} \lim_{\varepsilon \rightarrow 0} \left[ \text{Re} \left[ \frac{\varepsilon + i\omega}{\varepsilon^2 + \omega^2} \right] \right]$$

$$= \frac{2}{\sqrt{2\pi}} \times \pi \times \frac{1}{\pi} \lim_{\varepsilon \rightarrow 0} \left[ \frac{\varepsilon}{\varepsilon^2 + \omega^2} \right]$$

$$= \sqrt{2\pi} \delta(\omega)$$

NOTE  $\delta(\omega) = \frac{1}{\pi} \lim_{\varepsilon \rightarrow 0} \left[ \frac{\varepsilon}{\varepsilon^2 + \omega^2} \right]$